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(4) m&g,—%,%u{wmmo,
xeN,
x> +50x =30 000=0,
E[J{O <x <240,
xe N,
#5150 <x <240, H x e N,
Brbl kP R 5 Ay K m B & 150 &,
(6) iy # &, 1% 100 = alog, (1 + 1), # 1% a = 100, 7 bk
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x=2o Ay =logw,y, =x -2,
EBHANEENAZEG, 0 E
ir. AT, HANREAA
MNRRE A & T B (x) =
log,x —x +2 HEANE &,

A8 (1) % V =k log 10 B4 % Q=900 &,V =1,
N 900 . 1 . N .
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AR E RS RHHE R =(-1) x (=) =7, 4
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(5) ENERE VM ERORE h th 30 hm 3 K Bk b, $k A
TEHEMHV 5B KR,
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{4—2b+c=—2, i {c=20 fees
2 4 2 $O’ ¥ ;
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Arbl 4 —=log,20e (-1,0),
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£(0) =0, w10
(-1)=-f/1), 1+4+a __32+a

37 4b 3+b”
L fa= -3, . _ _ 2 .
wa{y A =3(1 -5 ) 0 ER

174

8)(1,2] (9D 4024
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